MATH—EXt 4—EH

REIREA T R264E6 A E(6/195FER) 5
S |HhaaH FREKR |RREKER [sussmks |FRmmicR (ks ek | frREKR [ X8 KE |#$EEKR |RAKkER |—vaekE |SEEKE |hEEkE |8 aEKE Bk |[48)1IEKE @2k |MEE KR 7k%n§‘/f‘"ﬁ
HEBTR FaKARIK [HEKAEIK [#E7KAEIK |#E7K AR K [#E7KHEIK | #E7KARIK |#E7KARIK [#E7KARIK |#87KAR K [#E7KAEIK |#E7KARIK [HE7KAE K [#E7KAEIK |#E7KAR K [#E7KHEK |#E7KARIK |#E7KAE K [#E7KAEIK
i1 |—feEE 0 0 0 0 0 0 1 0 0 1 1 0 2 0 0 0 0 o 100{&/ml
2 | KIBE BEHINAL BHIAGD | RESAGD RESKELD RESWED BESWED BEHIAGD BHIAGD | RESALD REShELD REShED BEINED BHIAGD BHEIAGD | REShGD REShED | BREShEN | BEHEIhEN B
H3 |INIIARUVEZEDIEEY 0.003
4 |KERVZDIELEY <0.00005 <0.00005 0.0005
#H5 |ty RUVZDIEED 0.01
6 [SARUZDIELEY 0.01
H1 |ERRUVZDIEEY 0.01
#8 |Affi/nLEEY 0.05
Ho |EHEBEZER <0004  <0.004 <0004 <0004 <0004 <0004  <0.004 <0004 <0004 <0004 <0004 <0004  <0.004 <0004 <0004 <0004 <0004  <0.004 0.04
H10 |VTUAEYMIV R ORI TY <0001  <0.001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001  <0.001 <0001 <0001 <0001 <0001  <0.001 0.01
H11 | HEBEERRUEEBEER 10
12 [DVRRUZDILEY 0.14 08
H13 |[RIFRRUVZDILEY 1.0
Hi14 |migibmkER 0.002
15 [14-U 154y 0.05
Yy & —," I .
16 gzﬁ1|~'§>;:]1u,g—;’l;ﬁnﬁw 0.04
17 | 9ooMy 0.02
18 |7h7yO0IFLY 0.01
19 |MyooIFLy 0.01
20 [AVEY 0.01
o1 |1EKEE 0.17 0.17 0.17 0.25 0.17 0.17 <0.06 0.23 0.19 <0.06 0.28 0.12 0.1 0.23 0.13 <0.06 <0.06 0.39 06
H22 |/nnEEE: <0002 <0002 <0002 <0.002 <0002/ <0002 <0.002 <0002 <0002 <0.002 <0002/ <0002 <0.002 <0002 <0002  <0.002 <0002  <0.002 0.02
23 |/0mfkILA 0.018 0.024 0.031 0.021 0.038 0.04 0.013 0.037 0018/  <0.001 0.015 0017 <0001  <0.001 0.015 0.017 0.032 0.028 0.06
24 |V OnEEEE 0.01 0.008 0.004 0.007 0.007 0.005 0.01 0.016 0006/ <0004 <0004 <0004 <0004  <0.004  <0.004 0.009 0.006|  <0.004 0.04
25 V7' nvsnnsay 0.002 0.005 0.006 0.005 0.002 0.002 0.001 0.003 0.003 0.001 0.007 0.009 0.002 0.002 0.009 0.003 0.005 0.005 0.1
#26 |R%KEE <0.001 0.001 0.001 0001 <0001 <0001 <0001 <0001  <0.001  <0.001 0.001 0.002  <0.001 0.001 0.002| <0001 <0.001  <0.001 0.01
H27 |[#abnnrsy 0.028 0.041 0.051 0.037 0.052 0.054 0.02 0.055 0.03 0.002 0.033 0.039 0.004 0.003 0.037 0.03 0.053 0.049 0.1
#28 |M))O0FEREE <0.02 <0.02 <0.02 <0.02 0.02 0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 02
#29 |70 y00ray 0.008 0.012 0.014 0.011 0.012 0.012 0.006 0.015 0.009 0.001 0.01 0.012 0.001|  <0.001 0.012 0.010 0.016 0.016 0.03
#30 [70ERLA <0001 <0.001 <0001  <0.001 <0001 <0001  <0.001 <0001  <0.001  <0.001 0.001 0.001 0.001 0.001 0.001| <0001  <0.001  <0.001 0.09
31 |[RLATLTEN <0008  <0.008 <0008 <0.008 <0008/ <0008  <0.008  <0.008 <0008 <0.008  <0.008| <0008  <0.008  <0.008 <0008  <0.008  <0.008  <0.008 0.08
H32 |HEBRUZDOIEEY 10
H33 |[TLZIARUZDIEEY 0.09 0.04 0.07 0.04 0.04 0.02 0.02 02
H34 [BREUZDEEY 0.3
35 |[HERUZDIEEY 10
36 [TMILARUZDIEEY 23 200
H37 RV RUVZEDIEED <0.005 0.05
38 |&Eie14y 12 13 13 13 14 14 12 14 13 16 14 15 23 24 15 19 19 10 200
FH39 ALY RV L5 (B E) 120 86 75 43 63 46 48 300
240 |EREED 97 108 109 104 103 115 100 86 221 133 131 223 199 129 158 140 134 500
241 (RRAAVREE R 02
a2 [Vhrzy 0.000002 0.000001 0.000001 0.000001| 0.000001| 0.000001 |<0.000001 0.000002 0.000001 <0.000001 <0.000001 <0.000001 |<0.000001 |<0.000001|  0.00001
HA3 | 2-2FWAYE - <0.000001 <0.000001 |<0.000001 <0.000001 |<0.000001 <0.000001 |<0.000001 0.000001 |<0.000001 <0.000001 | <0.000001 <0.000001 |<0.000001 |<0.000001|  0.00001
Ha4 | REmEER <0005 <0005 <0005 <0.005 <0005 <0005 <0.005 <0005 <0005 <0.005 <0005 <0005 <0.005 <0005 <0005 <0.005 <0005  <0.005 0.02
a5 |71/-58 0.005
246 | AN (ERRFEOE) 038 0.7 0.7 0.7 08 0.8 06 0.8 0.7 0.2 0.7 0.7 02 0.1 06 04 06 0.6 3
H47 |pHiE 72 75 7.9 78 72 7.2 73 7.1 73 7.7 78 76 6.5 7.0 74 7.3 73 78| 58~86
%48 l];T: RERzROLL BEREROT0 ) EREROLGL BRRZROT0 ERZROGL BEZROT0 ERZRHLL ) BEZROT0 ERERHLL BEZROG0 ERERHLL BREZROT0 ERERHLL BEZ2RHT0 ERZRHLL BEEZROHG0 ) ERERHLL ) BEEZRHEN E'ﬁi"é?’;l,\
%49 E,—'ﬁ REREROGL BEREROLT0 EREROLGL BREZROT0 EREROLL BEZROT0 ERERHLL BEZROG0 ERERHLL BEZROG0 ERERHLL BEE2ROT0 ERERHLL BEE2ROT0 ERZRHLL BREEZROT0 ERERHLL ) BEEZRHTN E'ﬁi"é?’;l,\
Hs0 |@mEE <0.5 <05 <0.5 <05 <0.5 <05 <0.5 <05 <0.5 <05 <0.5 <05 <0.5 <05 <0.5 <05 <0.5 <05 5
#H51 |&E <0.1 <01 <0.1 <01 <0.1 <01 <0.1 <01 <0.1 <0.1 <0.1 <01 <0.1 <01 <0.1 <0.1 <0.1 <01 2
TR e R 0.7 0.6 05 0.6 0.46 0.39 0.77 0.45 048 0.52 043 0.20 0.50 0.40 0.40 0.7 0.45 0.1




